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1. Choose the correct answer from the
following : 1x5=5
(a) Keto-enol tautomerism arises due to
() migration of a proton
(i) migration of an enolic gfoup
(i) migration of g hydroxyl group

(iv) migration of a ketogroup



(R2.0)

() Which of the following is most basic?

(c)

(@)

()
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() Diphenylamine
(i) p-toluidine

(i) P-chloroaniline
(ll)} p'nitroanﬂine
Combination of o-am

which linkages resu
Protein is known as

(i) ester linkage

It in formation of

(i) glycosidic linkage
(@) peptide linkage
(iv) lactum linkage‘

T At
1'1e alkaloig 1solatedq from tea leaves is
(i) theobromine

(@) uric acig
(iti) Xanthine
() caffeine
The hyprg
Pyridine ig
ﬁ) Sp

(@) sp2

(it) sp3

seon | of N-atom in

(iv) Not hybndlzed
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0. Answer any five from the following :

4.

(a)

- (b)

(c)

(@)

()

(@)

(b)

(@)

/662

(S

Synthesize succinic acid from ethyl
acetoacetate (EAA).

Explain Hofmann elimination reaction
with the help of an example.

What is zwitterion? Explain with the
help of an example.

Pyridine is more basic than pyrrole.
Explain.

Starting from B-naphthol, how will you

' synthesize B-naphthylamine?

Define alkaloids. How are they isolated?

UNIT—I

from diethyln{alonate,

Starting :
synthesize any one from the following :

(i) n-valeric acid

(i) Succinic acid

Starting from ethylacetoacetate,
synthesize pentane-2,4-dione.

UNIT—II

|7

2x5=10

What is Mannich base? Complete the

following reaction :
: CHj
HCHO*CH3-NH,+CHy—CH—NO, B> 4 2>

1+1=2

B
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(b) Convert any one of the following : z

1 Explain briefly about the tertiary

Hy e
: 2L Br - structure of proteins. 8
; ‘
(i) - el |
| UNIT—IV
Br ‘7.

(a) Synthesize anthracene starting from

Ao OH tetralin showing all steps. 2
(ii) (b) Complete the following reactions
F R J (any two) : ; 1x2=2
NH
5. @ w 2 i )
(@) re::tts :iipens when diazomethan€ (1) o
i ' )
chloride? () ethylene and (1) a‘“ih
'y v CnCly, CCL, |,
Or - (i1) ™
HOW can . |
from pﬁmalkyl 1S‘Jf:)”al’l&ltes be prepared
when alkyla'uy amines? What happens
alcoh 'Socyantes are refluxed with :
ols? xe i, e HNO;/H,S04
{b} What uy s
treatedha\?riinsb‘”hen Propanamide 18
KOH Solutionp fomine and aqueous UNIT—V
W 8. (a) Pyridine undergoes electrophilic
65 NIT—I]] . substitution reactions preferentiaily at
OW can yoy, . C-3 position. Explain. 2
help of Gabrj S;yntheSize glycin with the | .
R e iba o, o Lol (D Bataesize Limethyl soquinolines with
{ S ST Bolypenti the help of Bischler-Napieralski
Xample of 4. o0 PHd€?  Give one synthesis. 3
P npeptlde f
16/662 . ' o+
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(c)

9. (a)

(b)

(¢
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(6)

Or

the
Synthesize 2 4- -diethylpyrrole with
help of Paal-Knorr synthesis.

. .' ns
Complete the following reactio 2
(any three) :

()

@ + CHCl, + KOH G
HgCl,
(W) K j CH3COONa

(i) NaNHg/IOO e
ur

HgO/H+

i) “ S
S

UNIT~VI

Hofmann’g exhaustive
methylatioy, cons1der1ng the example
of nicotine and give the name of the
bProduct,

Write one medicinal ¢ each of
Cocaine an

Teserpine.
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